			Ī	Q-24-784 Police Vehicle Equipment awarded to: Dana Safety Supply, Inc.						
				10-8 Emergency Services New Holland, PA Blue Tech, LLC Pittsville, MD				Dana Safety Supply, Inc. Lorton, VA		
Item	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
1	17" 2020 PI UV-SPECIFIC CONSOLE Product # CC-20-UVLP-17	Each	19	\$327.10	\$6,214.90 *	\$342.97	\$6,516.43 *	\$337.88	\$6,419.72	
2	WIRE HARNESS COVER Product # AC-UV20-HC	Each	19	\$0.00	\$0.00	\$135.43	\$2,573.17 *	\$133.42	\$2,534.98 *	
3	3" RADIO FACE PLATE Product # FP-MXTL2500	Each	19	\$0.00	\$0.00	\$31.55	\$599.45 *	\$30.88	\$586.72	
4	4" SOUND OFF 500 SIREN FACE PLATE Product # FP-SO500-R	Each	19	\$0.00	\$0.00	\$31.55	\$599.45 *	\$30.88	\$586.72	
5	2" FACE PLATE W/2 DC OUTLETS, 1 DUAL USB Product # FP-USB-2DC	Each	19	\$53.82	\$1,022.58	\$56.43	\$1,072.17	\$51.88	\$985.72	
6	1" BLANK FILLER PLATE Product # FP-BLNK1	Each	19	\$0.00	\$0.00	\$8.15	\$154.85 *	\$8.03	\$152.57	
7	4" INTERNAL DUAL BEVERAGE HOLDER Product # AC-INBHG	Each	19	\$38.27	\$727.13 *	\$40.13	\$762.47 *	\$39.53	\$751.07	
8	3" SHALLOW STORAGE TRAY Product # FP-TICK-2	Each	19	\$31.69	\$602.11 *	\$34.98	\$664.62	\$32.73	\$621.87	
9	SWIVELING PRINTER ARM REST W/5X8 PAD Product # AC-PENPRTR-58-CC	Each	19	\$269.01	\$5,111.19 *	\$310.37	\$5,897.03 *	\$305.76	\$5,809.44	
10	SLIDE ARM DOCKING STATION CONSOLE TOP Product # CM-DH-SLDK-LED	Each	19	\$383.32	\$7,283.08 *	\$401.91	\$7,636.29 *	\$395.95	\$7,523.05	

				10-8 Emergency Services New Holland, PA			ech, LLC ille, MD	Dana Safety Supply, Inc. Lorton, VA	
Item	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
11	US-SIZE SPACE MAKER PARTITION BENT FRAME DESIGN Product # TP-E-SM1-US-SS	Each	19	\$730.16	\$13,873.04 *	\$765.57	\$14,545.83 *	\$754.22	\$14,330.18
12	2020 PI UV SPACE-MAKER PARTITION MOUNT Product # SAB-20-UV-BF	Each	19	\$0.00	\$0.00	\$250.17	\$4,753.23 *	\$246.46	\$4,682.74
13	2020 PI UV SPACE-MAKER KICK PANEL W/Notch Product # KP-20-BFUV-SS-N 3-PC.	Each	19	\$144.72	\$2,749.68 *	\$159.72	\$3,034.68	\$149.48	\$2,840.12 *
14	SINGLE WEAPON MOUNT W/GUN LOCK BRACKETS Product # GM-SGL-MNT	Each	15	\$149.50	\$2,242.50	\$156.75	\$2,351.25	\$154.42	\$2,316.30
15	RIFLE W/OPTICS BRACKET Product # GM-B-OP-SC5-BKT	Each	15	\$0.00	\$0.00	\$73.99	\$1,109.85 *	\$72.89	\$1,093.35
16	UNIVERSAL GUN LOCK Product # GL-SC-6	Each	15	\$150.10	\$2,251.50 *	\$157.30	\$2,359.50	\$155.04	\$2,325.60
17	MAGNETIC MIC Product # AC-MAG-MIC	Each	19	\$40.07	\$761.33 *	\$42.01	\$798.19 *	\$41.38	\$786.22
18	2020 PI UTILITY TILT-UP CARGO Mt W/GAS SHOCKS Product # CP-UV20-CARGO	Each	19	\$568.10	\$10,793.90	\$595.65	\$11,317.35	\$586.82	\$11,149.58

				10-8 Emergency Services New Holland, PA		Blue Tech, LLC Pittsville, MD		Dana Safety Supply, Inc. Lorton, VA	
Item	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
19	FORD 2020 PI UTILITY ELECTRONICS TRAY Product # AC-20-UV-TRAY	Each	19	\$190.76	\$3,624.44	\$200.01	\$3,800.19 *	\$197.04	\$3,743.76
20	2020 PI UTILITY REAR PARTITION W/FX & LOCKING COMP Product # TP-20-UVFX-LCP	Each	19	\$526.24	\$9,998.56	\$580.80	\$11,035.20	\$446.60	\$8,485.40
TOTAL LUMP SUM (Items 1-20)			\$67,255.94 *		\$81,581.20 *		* \$77,725.11		

^{*}Corrected calculations based on unit pricing

Remarks/Exceptions

10-8 Emergency Services - Non-Responsive, did not use the Revised Form of Proposal.

Shipping Charges \$2,546.53

No Delivery/Service calendar days listed.

Blue Tech, LLC - No Delivery/Service calendar days listed.

Dana Safety Supply, Inc. - Delivery/Service can be performed no later than 30-45 calendar days from receipt of order.

					Tobile Tech, LLC.	McLoughlin & Eardley Group dba Sirennet Tigard, Oregon		
Item	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price	
1	17" 2020 PI UV-SPECIFIC CONSOLE Product # CC-20-UVLP-17	Each	19	\$337.00	\$6,403.00	\$373.00	\$7,087.00	
2	WIRE HARNESS COVER Product # AC-UV20-HC	Each	19	\$133.00	\$2,527.00	\$9.00	\$171.00	
3	3" RADIO FACE PLATE Product # FP-MXTL2500	Each	19	\$0.00	\$0.00	\$9.00	\$171.00	
4	4" SOUND OFF 500 SIREN FACE PLATE Product # FP-SO500-R	Each	19	\$0.00	\$0.00	\$9.00	\$171.00	
5	2" FACE PLATE W/2 DC OUTLETS, 1 DUAL USB Product # FP-USB-2DC	Each	19	\$52.00	\$988.00	\$64.00	\$1,216.00	
6	1" BLANK FILLER PLATE Product # FP-BLNK1	Each	19	\$0.00	\$0.00	\$9.00	\$171.00	
7	4" INTERNAL DUAL BEVERAGE HOLDER Product # AC-INBHG	Each	19	\$39.00	\$741.00	\$52.00	\$988.00	
8	3" SHALLOW STORAGE TRAY Product # FP-TICK-2	Each	19	\$33.00	\$627.00	\$46.00	\$874.00	
9	SWIVELING PRINTER ARM REST W/5X8 PAD Product # AC-PENPRTR-58-CC	Each	19	\$305.00	\$5,795.00	\$245.00	\$4,655.00	
10	SLIDE ARM DOCKING STATION CONSOLE TOP Product # CM-DH-SLDK-LED	Each	19	\$395.00	\$7,505.00	\$436.00	\$8,284.00	

				Frontline M Jes	& Eardley Group, Sirennet rd, Oregon		
Item	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price
11	US-SIZE SPACE MAKER PARTITION BENT FRAME DESIGN Product # TP-E-SM1-US-SS	Each	19	\$752.00	\$14,288.00	\$823.00	\$15,637.00
12	2020 PI UV SPACE-MAKER PARTITION MOUNT Product # SAB-20-UV-BF	Each	19	\$246.00	\$4,674.00	\$275.00	\$5,225.00
13	2020 PI UV SPACE-MAKER KICK PANEL W/Notch Product # KP-20-BFUV-SS-N 3-PC.	Each	19	\$169.00	\$3,211.00	\$170.00	\$3,230.00
14	SINGLE WEAPON MOUNT W/GUN LOCK BRACKETS Product # GM-SGL-MNT	Each	15	\$154.00	\$2,310.00	\$175.00	\$2,625.00
15	RIFLE W/OPTICS BRACKET Product # GM-B-OP-SC5-BKT	Each	15	\$73.00	\$1,095.00	\$9.00	\$135.00
16	UNIVERSAL GUN LOCK Product # GL-SC-6	Each	15	\$155.00	\$2,325.00	\$176.00	\$2,640.00
17	MAGNETIC MIC Product # AC-MAG-MIC	Each	19	\$41.00	\$779.00	\$42.00	\$798.00
	2020 PI UTILITY TILT-UP CARGO Mt W/GAS SHOCKS Product # CP-UV20-CARGO	Each	19	\$585.00	\$11,115.00	\$633.00	\$12,027.00

			lobile Tech, LLC. sup, MD	McLoughlin & Eardley Group, dba Sirennet Tigard, Oregon			
Item	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price
1 19	FORD 2020 PI UTILITY ELECTRONICS TRAY Product # AC-20-UV-TRAY	Each	19	\$196.00	\$3,724.00	\$222.00	\$4,218.00
20	2020 PI UTILITY REAR PARTITION W/FX & LOCKING COMP Product # TP-20-UVFX-LCP	Each	19	\$542.00	\$10,298.00	\$613.00	\$11,647.00
	TOTAL LUMP SUM (Items 1-20)	\$78,405.00		\$81,970.00			

^{*}Corrected calculations based on unit pricing

Remarks/Exceptions

Frontline Mobile Tech, LLC. - Non-Responsive, did not use the Revised Form of Proposal. Delivery/Service can be performed no later than <u>60</u> calendar days from receipt of order.

McLoughlin & Eardley Group, Inc. dba Sirennet - Non-Responsive, did not use the Revised Form of Proposal. Delivery/Service can be performed no later than <u>84</u> calendar days from receipt of order.